Shift Reduce again. (f1)

if a < b then while Db > 10 do b = b - a
if 1d < b then while Db > 10 do b = b - a
1f simp < b then while Db > 10 do b = b - a
1f simp op D then while Db > 10 do b = b - a
if simp op 1id then while D > 10 do b = D - a
if simp op simp then while D > 10 do b = D - a
if expr then while Db > 10 do b = D - a
if expr then while id > 10 do b = D - a
if expr then while simp > 10 do b = D - a
if expr then while simp op 10 do b = Db - a
if expr then while simp op num do b = D - a
if expr then while simp op simp do b = D - a
if expr then while expr do b = b - a
if expr then while expr do id = b - a
if expr then while expr do id = 1id - a
if expr then while expr do id = simp - a
if expr then while expr do id = simp op a
if expr then while expr do id = simp op 1id
if expr then while expr do id = simp op simp
if expr then while expr do id = expr ;
if expr then while expr do stmt
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Shift Reduce turned upside-down (f2)

stmt
if expr then stmt
if expr then while expr do stmt
if expr then while expr do id = expr
if expr then while expr do id = simp op simp
if expr then while expr do id = simp op 1id
if expr then while expr do id = simp op a
if expr then while expr do id = simp - a
if expr then while expr do id = id - a
if expr then while expr do id = b - a
if expr then while expr do b = b - a
if expr then while simp op simp do b = D - a
if expr then while simp op num do b = D - a
if expr then while simp op 10 do b = Db - a
if expr then while simp > 10 do b = b - a
if expr then while id > 10 do b = b - a
if expr then while Db > 10 do b = b - a
if simp op simp then while D > 10 do b = D - a
if simp op 1d then while D > 10 do b = D - a
if simp op Db then while Db > 10 do b = D - a
if simp < b then while Db > 10 do b = D - a
if id < b then while Db > 10 do b = b - a
if a < b then while Db > 10 do b = b - a
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